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Question Number : 1 Question Id : 9277598307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series.

MOQ, SUW, YAC, ,KMO
Options :
1. ¥ EGI
2. ®* EFG
3. * FGH
4. % EGH



Question Number : 1 Question Id : 9277598307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad sieR gaar & g g 1d B |

MOQ, SUW, YAC, ,KMO
Options :
1. ¥ EGI
2. * EFG
3. * FGH
4. = EGH

Question Number : 2 Question Id : 9277598308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. Instant

2. Instantly

3. Insult

4. Initial

5. Instantaneous

Options :

1. % 43251
2. % 34125
3. ¥ 41523
4. % 14532

Question Number : 2 Question Id : 9277598308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T v P ST HH A HIRUT P ST HAH I UsSHIT A Bl B

1. Instant




2. Instantly

3. Insult

4. Initial

5. Instantaneous

Options :

1. # 43251
2. % 34125
3.9 41523
4, % 14532

Question Number : 3 Question Id : 9277598309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ SAMSUNG
2. ¥ Airtel

3. % Lenovo

4. % Sony

Question Number : 3 Question Id : 9277598309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faedl 7 @ & T g 9% I UM &1 g, T [Ahed 370 diF &1 a8 81 8| 39 ey &1 T B off 370 T 3T g |
Options :

1. % O

2.« TR

3. % forral

4. % I

Question Number : 4 Question Id : 9277598310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. * Engineer
2. % Doctor
3. % Lawyer
4. ¥ Clerk

Question Number : 4 Question Id : 9277598310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faedl 7 @ & T AT 9% I UM &1 gy, T [Ahed 370 diF &1 aRE 81 8| 39 ey o1 T &3 off 370 T 3T g |
Options :

1. % OIRR

2. % Sl

3. % gl

4. Db

Question Number : 5 Question Id : 9277598311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Triangle : 111 :: Pentagon : ?
Options :

1. ® VI

2. % 1V

3. ¥V

4. % VIl



Question Number : 5 Question Id : 9277598311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAHed BT 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo JR ¥ 3R UG Ugd Ug ¥ Hafed g

ﬁﬂﬁ:lll::qﬂﬂﬁf:?
Options :

1. % VI

2. % 1V

3. ¥V

4. % VII

Question Number : 6 Question Id : 9277598312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair from the option that is similar to the pair given in the question.

Mosquito : Malaria :: ?
Options :

1. % Elephant : Elephant's foot
2. % Ant : Antelope

3. % Dog : Rabies

4. # Fish : Typhoid

Question Number : 6 Question Id : 9277598312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et # 4 I SIS BT I B ol Uy H <1 T8 Siiel b A g
AT - HARAT = 2

Options :
1. % g grft BT IR
2. % 9T Uy



3. ¢ T el
4. % TSI : 3 (Typhoid)

Question Number : 7 Question Id : 9277598313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if mountain is called sea, sea is called river, river is called ocean, ocean is called lake, then what is Ganga?
Options :

1. # River

2. ¥ Ocean

3. % Sea

4. # Lake

Question Number : 7 Question Id : 9277598313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
wﬁf&gmwﬁaﬁﬁaﬁwww%wﬁﬁww%ﬁﬁmww%wﬁsﬂaww%?ﬁ
T T g?

Options :

1. % 9

2. % HgAMR

3. % 94

4. % fid

Question Number : 8 Question Id : 9277598314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if SATISFACTION is coded as FSITASNOITCA, then what will SUBMISSION be coded as?
Options :

1. ®* SSIONSUBMI

2. ¥ IMBUSNOISS

3. ¥ IMBUSSSION



4. % SSIONIMBUS

Question Number : 8 Question Id : 9277598314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAf¥d Brs U H, TfE SATISFACTION @1 FSITASNOITCA & =0 H SIfSd foa1 a1 8, d SUBMISSION &1 8 shifsd fpar smam
Options :

1. % SSIONSUBMI

2. ¢ IMBUSNOISS

3. % IMBUSSSION

4. % SSIONIMBUS

Question Number : 9 Question Id : 9277598315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six colleagues Asha, Barsha, Chandan, Dixit, Emily and Farhan play six different games/sports i.e. Football, Cricket, Table Tennis, Hockey,
Squash and Archery.

Emily is elder than Asha and Dixit and plays Table Tennis.

The eldest person plays Hockey.

The youngest among them plays Squash.

Barsha and Dixit neither play Hockey nor Squash.

Chandan plays squash.

Emily is between Barsha and Asha in terms of age. Barsha plays Football.

Who among them is the eldest?

Options :

1. # Asha

2. ¥ Chandan
3. % Farhan
4. % Barsha

Question Number : 9 Question Id : 9277598315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. = R0

2. % e

3. ¥ BREM

4. % QI

Question Number : 10 Question Id : 9277598316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man is driving a car. He takes two left turns, three right turn, a U-turn and then a right turn. Finally he is driving towards East. Find the initial
direction in which he was driving?

Options :
1. #* North
2. % South
3. ¥ East
4. % West

Question Number : 10 Question Id : 9277598316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T iR HR Id1 @1 2| I8 &l 910 Al AT &, 19 2T HIS T B, T U-a o & 3R iR U S Mg AaT 21 3id H 98 4d &b 3R et
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Options :




1. % W
2. % e

3.Y 74

4. % gigy

Question Number : 11 Question Id : 9277598317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, a statement has been given followed by two courses of action numbered I and II. Assuming that all information in the statement
is true, analyse the actions together and determine whether any of them logically and definitely follow(s) from the information given in the
statement.

Statement: Ramesh was walking down the street at night and was bitten by a street dog.
Courses of Action:

I) Ramesh should immediately visit a doctor and take rabies injection.
IT) The animal welfare board must organise a committee to inject vaccines to all street dogs to prevent them from having rabies.

Options :

1. ¥ Only I follows

2. % Only II follows

3. # Both I and II follows
4. % Neither I nor II follows

Question Number : 11 Question Id : 9277598317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YUY A, U Y a1 791 §, oI a1g S1ar & &) % 1 3R 11 AT U § | 98 A4 §U fb %o § Ot THaR) 9 §, $IRaTS &1 U
7Y fa=eeoT % SR FAUid &% fob 71 A § T8 SR 3 9 B aifdhed 0 3 iR Ffdd U 9 S8R dxdraxd g |

HY: T A H TSP WR Id 8T 4T 3R 39 I & Fl - Pie ford|
HRATS & HH:

I) T P g Slaex & U1 ST MY 3R Yefiol 1 S a1 a1l
1) U] S0 SIS DI il H el g U b o ForT Juft IR & Fll 1 b A o forg FfAfa &1 716+ a1 anfe Tl




Options :

1. ¢ $Had | IR0 FRAT &

2. % HAd [1 3T BT &

3. % [ 3R 11 ST SFIERI xd §

4. % Q1 3R A8 11 SR Rl §

Question Number : 12 Question Id : 9277598318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the
statements are true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the
information given in the statements.

Statement I: All boys are girls.
Statement II: Some girls are children.
Statement I1I: No child is an adult.

Conclusion I: All boys are children.
Conclusion II: Some boys being adult is a possibility.

Options :

1. # Only I follows

2. % Only II follows

3. # Both I and II follows
4. % Neither I nor II follows

Question Number : 12 Question Id : 9277598318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # $Had | IR0 FRAT &

2. ¥ HAd I1 3T BT &

3. % [ 3R 1 ST SFIERUI xd §

4. % Q1 3R A8 11 SR Rl §

Question Number : 13 Question Id : 9277598319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. # 441
2. % 529
3. % 1024
4. ¥ 852

Question Number : 13 Question Id : 9277598319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faedl 7 @ & T g 9% I UM &1 g, T [Ahed 370 diF &1 a8 81 8| 39 ey &1 T B off 370 T 3T g |
Options :

1. # 441

2. % 529

3. % 1024

4. ¥ 852

Question Number : 14 Question Id : 9277598320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

3285:18::964 :7?
Options :

1. %9

2. % 23

3.9 19

4. % 13

Question Number : 14 Question Id : 9277598320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdhed BT 997 B S iR UG ¥ 341 ISR ¥ Yafid g fo UR ¥ gOR1 UG Ugd Ug ¥ Hafed g

3285:18::964 :7?
Options :

1. %9

2. % 23

3.4 19

4. % 13

Question Number : 15 Question Id : 9277598321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship among suitcase, luggage and escalator?
Options :



Question Number : 15 Question Id : 9277598321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 &1 91 9 S Yedhy, T 3R WaTerd Tle! (escalator) & o191 & Haiel 1 Ta 33T <=l 82

Options :




Question Number : 16 Question Id : 9277598322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cultural fest was organised PMCH college of Engineering. The following Venn diagram shows the number of students who participated in four
different activities namely Dancing, Singing, Fashion show and Drama. Find the number of students who participated in at least three activities.



Options :
1. ¥ 31
2. % 30
3. % 81
4. % 27

Question Number : 16 Question Id : 9277598322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PMCH SSH-aieT AeTfqarad & i fdd Sad &1 Ao fava 1| FofaRad 97 s ar fafid fafafer S 9, T, hee =
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Options :
1. ¥ 31
2. % 30
3. * 81
4. = 27

Question Number : 17 Question Id : 9277598323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the question figure?

Options :

2.¥



Question Number : 17 Question Id : 9277598323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad o ¥ o W SR i Uy SHfa B Rl 82

Options :



2.¥

Question Number : 18 Question Id : 9277598324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the pair which is different from the pair in the question figure.

Options :

3.¢



Question Number : 18 Question Id : 9277598324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS BT T B S U P A Sl § ST |

Options :



Question Number : 19 Question Id : 9277598325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

Options :



Question Number : 19 Question Id : 9277598325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe Teb U1 b1 T[@T MN TR TGN W1l &, o IR 3ATepia & Q i Y <t 78 3rrepiel o) It B 82

Options :



Question Number : 20 Question Id : 9277598326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A paper is folded and punched as shown in the figure. Choose the figure which closely resembles the unfolded form of figure Z.



Options :

Question Number : 20 Question Id : 9277598326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



General Awareness

Group Number : 2

Group Id : 927759312
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness

Section Id : 927759338
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759401
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9277598327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rock Shelters of Bhimbetka is located in which state?
Options :

1. # Maharashtra

2. % Bihar



3. % Madhya Pradesh
4. # Gujarat

Question Number : 21 Question Id : 9277598327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WiraesdT ey g Ioa | fyd 82
Options :

1. ® HeRIY

2. % fogR

3. O eI

4. % TGRId

Question Number : 22 Question Id : 9277598328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R H e ad 9 TR &9 91 AIGR AT ST 62
Options :

1. % digs!

2. % giTd

3. % OHIdddd

4. ¢ fag

Question Number : 22 Question Id : 9277598328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which festival is celebrated when the annual harvest takes place in Assam?
Options :

1. # Lohri

2. # Pongal

3. % Makaravilakku



4. ¥ Bihu

Question Number : 23 Question Id : 9277598329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not a product of National Payments Corporation of India (NPCI)?
Options :

1. ¥ Foreign Exchange Reserves

2. # RuPay

3. # Bharat Interface for Money

4. # Unified Payments Interface

Question Number : 23 Question Id : 9277598329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafafad & 9 oIF a1 URdra 18 Y 7T &1 3arg T8 8
Options :

1. ¢ fag=it gg1 sRfad Her

2. % 33U

3. % YRd B BIX FAl

4. % TDIPd YIAH H<RYY

Question Number : 24 Question Id : 9277598330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is monetary value of all finished goods and services made within India during a specific period called?
Options :

1. % Primary Deficit

2. # Fiscal Deficit

3. % Revenue Deficit

4. ¥ Gross Domestic Product



Question Number : 24 Question Id : 9277598330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fARIY 3afyy & SRM YRA & iR 7 I+t FUR o Td Yaraii b Aifeed Y ) 1 BT o1l 82
Options :

1. % Ul Sitbiie

2. % STHIYY °eT

3. % XSIkg YTt

4.« Fabel IR SMIG

Question Number : 25 Question Id : 9277598331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prakhar drank contaminated water from a municipal tap. Which possible disease can he catch because of it?
Options :

1. ¥ Cholera

2. % Covid-19

3. % Elephantiasis

4. % Malaria

Question Number : 25 Question Id : 9277598331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR A TR 1 & 90 9 ga urt fan| 39 SRS DIF 1 YU T T Fbdl /2
Options :

1. ¥ goll

2. % DIAS -19

3. % Biadlg

4. % TARET



Question Number : 26 Question Id : 9277598332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used in the treatment of cancer?
Options :

1. ¥ Cobalt-60

2. # Iron-56

3. # Nickel-64

4, % Aluminium-27

Question Number : 26 Question Id : 9277598332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mﬁﬁwmwm(Cancer)a§WﬁWW%?
Options :

1. ¢ DIdleC-60

2. % 3R -56

3. % fYhd -64

4. % TcgAgy -27

Question Number : 27 Question Id : 9277598333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where does Alaknanda River join Bhagirathi River in India?
Options :

1. # Dehradun

2. ¥ Devprayag

3. % Prayagraj

4. ¥ Champawat

Question Number : 27 Question Id : 9277598333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
3ABTGT Il HRd H HITRR 7} & gl firareh 82
Options :

1. % <gIgd

2. ¥ SN

3. % TR

4. % JHGd

Question Number : 28 Question Id : 9277598334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is a major tributary of Bhagirathi river?
Options :

1. ¥ Bhilangna

2. % Pindar

3. % Dhauliganga

4. # Bishenganga

Question Number : 28 Question Id : 9277598334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRR e ) U Fere A4 &1 W 82
Options :

1. « Yo

2. # fiex

3. % N

4. % fogrETm

Question Number : 29 Question Id : 9277598335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In which year was the Pitt’s India Act passed?
Options :
1.4 1784
2. % 1819
3. % 1857
4. % 1901

Question Number : 29 Question Id : 9277598335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foe &1 WRd SifAfgw fog af # uila foar mar
Options :

1.9 1784

2. % 1819

3. % 1857

4. % 1901

Question Number : 30 Question Id : 9277598336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which city existed in the Indus Valley civilization?
Options :

1. ¥ Harappa

2. # Muziris

3. % Dwarka

4. ¥ Sanchi

Question Number : 30 Question Id : 9277598336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e} T} Tizrar o DI 1 2R HINg U1
Options :




1. ¢ gl
2. % gfoiy
3. % GR®I
4. % Tra

Question Number : 31 Question Id : 9277598337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who led the Battle of Buxar on behalf of British East India Company?
Options :

1. # Charles Stuart

2. % Robert Clive

3. % Hector Munro

4. % John William Fortescue

Question Number : 31 Question Id : 9277598337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeer S Sfear Sl i SR T TRR & g HI 1 (b [han

Options :

Question Number : 32 Question Id : 9277598338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which famous personality of India is also known as Bengal Kesari?
Options :

1. # Lala Lajpat Rai



2. # Rabindranath Tagore
3. % Ashutosh Mukherji
4. # Bankim Chandra Chattopadhay

Question Number : 32 Question Id : 9277598338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & g URTe fdic &1 ST Ha) & A8 J Hi &1 &Irell 62
Options :

1. % Iledl oflolud I

2. % THIGAY SR

3. ST TRl

4. % ST I ISIUAY

Question Number : 33 Question Id : 9277598339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Salman Rushdie won Booker Prize for which novel?
Options :

1. # Grimus

2. ¥ Shame

3. ¥ Midnight's Children

4. #* Quichotte

Question Number : 33 Question Id : 9277598339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT T2 A ford ST & ol g RIBR Star
Options :

1. % YgHY

2. % YW




3. ¢ fregcy foegH
4. % f@are

Question Number : 34 Question Id : 9277598340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state cabinet approved the Freedom of Religion Bill 2020?
Options :

1. ¥ Madhya Pradesh

2. # Uttar Pradesh

3. % Maharashtra

4. # Punjab

Question Number : 34 Question Id : 9277598340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore Ia Hfa-e A wied 3if RfeeH fad 2020 F1 HsRt €
Options :

1. ¢ T Y

2. % IR U

3. % HERIY

4. % U9g

Question Number : 35 Question Id : 9277598341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state started TRIFOOD parks in the year 20217
Options :

1. # Uttar Pradesh

2. % Madhya Pradesh

3. ¥ Karnataka



4. # Rajasthan

Question Number : 35 Question Id : 9277598341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg 1o =1 99 2021 H TIPS Ul (TRIFOOD UTdh) YR foham
Options :

1. % JW U

2. ¥ TH UG

3. % BAICH

4, % ST

Question Number : 36 Question Id : 9277598342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the first Indian fencer to compete at Olympics?
Options :

1. # Dutee Chand

2. % Kamalpreet Kaur

3. # Lovlina Borgohain

4. ¥ Bhavani Devi

Question Number : 36 Question Id : 9277598342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3MeifUes H HIT o a1l U8 HRIg ek i &7

Options :

3. % Ade dRIMeA

4. ¢ A &t



Question Number : 37 Question Id : 9277598343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Citizenship Act passed in India?
Options :

1. % 1951

2. %1955

3. % 1959

4. % 1964

Question Number : 37 Question Id : 9277598343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR H ArTRaar sy forg af o urfed fasar mar um
Options :

1. # 1951

2. 9% 1955

3. % 1959

4. % 1964

Question Number : 38 Question Id : 9277598344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the final draft of Constitution of India adopted?
Options :

1. #® 1947

2. % 1948

3.9 1949

4. % 1950

Question Number : 38 Question Id : 9277598344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA & Hfay™ & Sifaw Uy &1 food auf o srg=man 7am r
Options :

1. % 1947

2. % 1948

3. % 1949

4. % 1950

Question Number : 39 Question Id : 9277598345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where was Formula One 2013 Indian Grand Prix held?
Options :

1. # Madras Motor Race Track

2. ® Kari Motor Speedway

3. #* Trungattukottai Race Track

4. ¥ Buddh International Circuit

Question Number : 39 Question Id : 9277598345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WA 39 2013 SF&T UiS e Fal smaford fosar am 4t
Options :

1. % TEN A W ¢h

2. % BRI AR Wigd

3. % HCCHITS W ¢h

4. ¥ YG AP URTY

Question Number : 40 Question Id : 9277598346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who was the first Indian to win an individual gold medal at the Olympic Games?
Options :

1. # Saina Nehwal

2. % P.V. Sindhu

3. % Vijender Singh

4. ¥ Abhinav Bindra

Question Number : 40 Question Id : 9277598346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3iieiftes el H sfekiTd W0l Uaeh Siid arel Ugel HRdg 14 42

Options :
1. % FreAT-gdd
2. % UIdt Riy
3. % foors Rig
4. ¢ 3 fofgT
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Group Number : 3
Group Id : 927759313
Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Arithmetic Ability



Section Id : 927759339

Section Number : 1

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759402
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9277598347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A board 5 feet 6 inches long is divided into 3 equal parts. What is the length of each part?
Options :

1. # 1 foot 8 inches

2. % 1 foot 9 inches

3. % 1 foot 10 inches

4. % 2 feet

Question Number : 41 Question Id : 9277598347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5TBIC 6 39 Tdl Th dls D! 3 SRIR HITN H ST 7T 5 | YA HIT B! dAalTs o1 6?2
Options :

1. % 1 pcgsd

2. % 1 Hcosd

3.9 1321059

4. % 2BIC



Question Number : 42 Question Id : 9277598348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If x/y = 9/13, find the value of (x2-y?)/(x*+y?).
Options :

1. % 0.352

2.9 -0.352

3. % 0.35

4, % -0.35

Question Number : 42 Question Id : 9277598348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS x/y = 9/13, (x*-y?)/(x>+y?) BT A 1 DY |
Options :

1. % 0.352

2.9 -0.352

3. %035

4, % -0.35

Question Number : 43 Question Id : 9277598349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man bought a watch for Rs 2000. Another man bought the same watch with 2 successive discounts for Rs 1411. What is the second discount if
the first discount is 15 percent?

Options :

1. % 13 percent
2. % 17 percent
3. # 20 percent
4. % 15 percent

Question Number : 43 Question Id : 9277598349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

gﬁw%ﬁzgoowﬁwaﬁml TP 3 Afd 7 I IS Y 2 FAS e & 1Y 1411 3T H W11 IS Ugah ge 15 ufara g at
JC HTE?

Options :

1. % 13 gfawd
2. ¢ 17 9faid
3. % 20 gfa=rd
4. % 15 9fa=rd

Question Number : 44 Question Id : 9277598350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost of photocopying for 1 paper is Rs 1.5. However, there's a discount of 3 percent for all papers above 1000 papers. How much will it cost
to photocopy 4950 sheets?

Options :

1. ¥ Rs. 7274.25
2. % Rs. 7247.52
3. % Rs. 7274.52
4. ¥ Rs. 7247.25

Question Number : 44 Question Id : 9277598350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

| BTN B! BICIBIT! Bl AT 1.5 ¥UU g | BTdifd, 1000 ¥ HUR & Gt SIS R 3 Ufa<rd & B¢ g1 4950 e &1 Wieidbidt & # fard=
T g

Options :

1. ® 727425 %Y

2. % 724752 ¥UY

3. % 7274.52 3T

4. 724725 ¥UQ




Question Number : 45 Question Id : 9277598351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class representative election, 17 percent of the votes where invalid. Out of valid votes the first candidate got 55 percent. If the total number
of votes are 2000, what is the number of votes that second candidate got?

Options :
1. ¥ 747
2. % 774
3. % 744
4. = 777

Question Number : 45 Question Id : 9277598351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS o U1 goma &, 17 Ufa=id 7d ST € | 98 Tal 8 ¥ Ugd SMHIedR &1 55 Ufa=rd 7d fird | afe el &1 oa =1 2000 €, a1 gk
STIGaR &1 firet Tl o TReT &1 g2

Options :

1. ¥ 747

2. % 774

3. % 744

4. % 777

Question Number : 46 Question Id : 9277598352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper purchased 100 kg of Rs 60 per kg sugar and mixed it with 70 kg of Rs 55 per kg sugar. At what price should it sell to make a profit
of 23 percent?

Options :

1. ¥ Rs. 71.27
2. % Rs.71.72
3. % Rs. 72.27
4. % Rs. 70.27



Question Number : 46 Question Id : 9277598352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HMER A 60 BT Ufd kg H 100 kg = BT 3R I 55 FUU UM kg BT 70 ke I & 1 B3 fowan| 23 ufawra &1 @y sifvld w4
& oy 39 v e R ST A1ee?

Options :

1. ¥ 71.27 0T

2. % 71.72 30T

3. % 722700

4. % 7027 30T

Question Number : 47 Question Id : 9277598353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling 20 balls at Rs 1400, there's a loss of the cost price equal to 6 balls. What is the cost price of the ball?
Options :

1. # Rs. 90

2. % Rs. 95

3. % Rs. 98

4. ¥ Rs. 100

Question Number : 47 Question Id : 9277598353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 71 DI 1400 TIT H 92 W, 6 Tig) & SRR ARTd Jed D1 81 Bt & | TG o1 ANTd Hed FT 82
Options :

1. * 90%4Uuq

2. % 95%UU¢

3. ¥ 984U

4.4 100%UU¢




Question Number : 48 Question Id : 9277598354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Zinc and copper are melted together to form an alloy in the ratio 3:7. 30 Kg of zinc has been used in it. What is twice the weight of the copper
that was used to form this alloy (in kg)?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
1.200 kg
2.205 kg
3.210 kg
4.215kg

Question Number : 48 Question Id : 9277598354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR 3R dfe B U 1Y fUeare 3.7 & SUTd § T U] §18 7T ¢ | STH 30 kg ST BT STANT ool T 8 | 39 T (kg #) P &1
& foTT IUNT fobT U dfd & R 1 &l T 11 82

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1.200 kg
2.205 kg
3.210 kg
4.215kg

Question Number : 49 Question Id : 9277598355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A mixture has 12 litres of milk and 6 litres of water. If 2 litres of water is replaced by 4 litres of milk and 4 litres of water, what is the new ratio of
milk and water in the solution?

Options :
1. ¥ 2:1
2. % 1:2
3. % 1:1
4. % 2:3

Question Number : 49 Question Id : 9277598355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HYur & 12 ©ier g 3iR 6 Tiex Uil g1 A 2 offex Ut &l 4 wiex g¥ 3R 4 diex Ul ¥ Sed faar 3, ot Oid & g 3R Uit &1 =11

3T &1 82
Options :

1.9 2:1
2. % 1:2
3. % 1:1
4. % 2:3

Question Number : 50 Question Id : 9277598356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The principal amount is Rs. 10000, rate of interest is 5 percent and period is 4 years. What 1s the difference between compound interest and
simple interest earned?

Options :

1. ¥ Rs. 155
2. % Rs. 515
3. % Rs. 551
4. % Rs. 150

Question Number : 50 Question Id : 9277598356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

AL 10000 ¥UT &, ST & 5 U= § 3R 37afd 4 a9 §1 ffold ashgfa saTel 3R QIR 7ol H T 3HeR 82
Options :

1. ¥ 15500

2. % 515%4Uq

3. % 551%4U¢

4, % 150U

Question Number : 51 Question Id : 9277598357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The minimum number of years in which a sum of money put out at 31 percent simple interest will be more than double is:
Options :

1. # 2 years

2. % 3 years

3. % 5years

4. ¥ 4 years

Question Number : 51 Question Id : 9277598357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S AN DI gAqH ST ForTH 31 Uf=Id QIURT &7e] TR 7T 775 IR0 &1 7 9 $4fde gt
Options :

1. %29y

2. % 399

3. % 599

4.9 479

Question Number : 52 Question Id : 9277598358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A train covers a distance of 20 km in 15 minutes. If the speed is decreased by Skmph, the time taken by it to cover the same distance is

Options :

1. # 15 minutes
2. ¥ 16 minutes
3. # 17 minutes

4. % 18 minutes

Question Number : 52 Question Id : 9277598358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wmlsgﬁﬁzomﬁ@aﬁm%l g T T 5 kmph 1 HH B < AT g, A ST Gl B a0 B H ISP GRT forn T
qHY |
Options :

Question Number : 53 Question Id : 9277598359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man travels 550 kms at a speed of 40 kmph by a train, 500 km by a ship at 20kmph, 400 km by aeroplane at 300kmph and 100km by car at 50
kmph. What is the average speed of the entire journey?

Options :

1. ¥ 36.8 kmph
2. % 38.8 kmph
3. % 36.6 kmph
4. % 38.6 kmph

Question Number : 53 Question Id : 9277598359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TS AfFT 40 kmph B T T 550 kms P AT XS T T BT 8, 20 kmph T 500 km T ST&TS GRT, 300 kmph T 400 km §ATS SIS gRI
3R 50 kmph @1 7T § 100 km HR GRT AT Ha & | T2 AT 1 ST TTf 1 82

Options :

1. ¥ 36.8 kmph
2. % 38.8 kmph
3. % 36.6 kmph
4. % 38.6 kmph

Question Number : 54 Question Id : 9277598360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

K can do a work in 3 days and R can do the same job in 4 days. Both of them work together and get Rs. 700 as payment. What is the share of R
in the payment?

Options :

1. # Rs. 700

2. % Rs. 400

3. ¥ Rs. 300

4. % Rs. 150

Question Number : 54 Question Id : 9277598360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

K U &1 & 3 1 & % Taball g iR R I 1f &t 4 fG71 &f = b1 31 3 1 Uh 1Y 1 R & 3R YA & =4 H 700 3T YT
XA g | YT H R &1 T | g2

Options :

1. % 700 >49Q

2. % 400 >4

3. % 300 ¥UUd

4. % 150U

Question Number : 55 Question Id : 9277598361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Aman, Bina and Cinderella can do a work in 10, 20 and 40 days respectively. If two days they all work together, then how much of work will be
done?

Options :
1.4 0.35
2. % 0.5
3. % 0.53
4. % 0.3

Question Number : 55 Question Id : 9277598361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3, ST SiR RIS T BT & B 10, 20 AR 40 el & G HR Tohdl §1 AfE & a1 3 92t U A1y 1 vl §, A o1 ol g
Options :

1. ¥ 0.35

2. %05

3. % 0.53

4. % 0.3

Question Number : 56 Question Id : 9277598362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 cubic cm of marble weighs 20 grams. The weight of marble is 100 kg. What will be the length of the marble if its width and height is 20 cm
and 10 cm respectively?

Options :

1. % 20 cm
2.% 50 cm
3. % 30 cm
4. % 25cm

Question Number : 56 Question Id : 9277598362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

2 cubic cm & GITARHR BT HR 20 UTH g | GITARHR BT HR 100 ke B | TTARHR B daTs o1 g U 59! TeTs 3R FHaTs HHT: 20 cm
10 cm%‘?

Options :

1. ® 20 cm

2. % 50 cm

3. ® 30 cm

4. % 25 cm

Question Number : 57 Question Id : 9277598363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A rectangular tank has its base dimensions as 180m x 90 m. Water flows into the tank through a rectangular pipe 1.5 m x Im @ 25 kmph. In what
time (in minutes) will the water rise by 2.5 meters?

Options :

1. # 68.4 minutes
2. ¥ 64.8 minutes
3. % 64.4 minutes
4. # 68.8 minutes

Question Number : 57 Question Id : 9277598363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH ATIATHR TPH BT SATYR ST 180m x 90 m & | T Uh SMIATHR UTST 1.5 m x | m @ 25 kmph & 100 I Tt H ded 5| fa ao
T (et /) art 2.5 Hler 9% U ST

Options :

1. % 68.4 ffFC

2. ¥ 64.8 fiE

3. % 64.4f0C

4. % 688 e



Question Number : 58 Question Id : 9277598364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the ratio of the maximum number of students who left the school to the lowest number of students who joined the school in the given
period?

Year Mt Nsut:‘::.::
Students Left ey

2015 122 179
2016 173 205
2017 175 286
2018 159 210
2019 154 299
2020 184 246
2021 143 195

Options :

1. % 184:197

2. % 148:197

3. % 148:179

4. 184:179

Question Number : 58 Question Id : 9277598364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 113 3afty # faerer e are Sl &1 iftiedd T & faarad & Hdf 811 aTd ST & -gAdH ST ¥ SuTd ol 87



o | For# | wime
YEn  |owE @t Een

2015 122 179
2016 178 205
2017 175 286
2018 159 210
2019 154 299
2020 184 246
2021 148 195

Options :

1. % 184:197

2. % 148:197

3. % 148:179

4. 184:179

Question Number : 59 Question Id : 9277598365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A students takes practice exam every month of the year. The total number of marks obtained in December 2019 is what percentage of the total
marks obtained in February 2019?



800 -
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o
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o
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Options :

1. # 80 percent
2. % 90 percent
3. % 100 percent
4. % 110 percent

Question Number : 59 Question Id : 9277598365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP BF TY & & Ha - ST URIel &l ¢ | faaR 2019 T UT 3ihl &1 it e, BRas! 2019 H U § 3! BT T uf=id g2
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Options :

1. % 80 gfa=rd
2. ¢ 90 Uf=Id
3. % 100 Ufa=rd
4. % 110 Ufa=rd

Question Number : 60 Question Id : 9277598366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year there has been a maximum percentage decrease in the value (in Rs) of finished goods as compared to the previous year?
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o
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Year
Options :
1. % 2016
2. % 2018
3.% 2017
4. % 2019

Question Number : 60 Question Id : 9277598366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a9 &t ga1 ¥ forg a8 & TR 9 & geg (¥UT ) H Siferaray ufa=rd ot oms g2
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Options :
1. % 2016
2. % 2018
3.¥ 2017
4. % 2019
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Group Maximum Duration : 0
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General English

Section Id : 927759340
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Section type : Online
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 927759403
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9277598367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Hardly do you buy a phone/ that they bring out a new/ one which supersedes it.
Options :

1. # Hardly do you buy a phone

2. % that they bring out a new

3. #* one which supersedes it.

4. # No Error

Question Number : 61 Question Id : 9277598367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Hardly do you buy a phone/ that they bring out a new/ one which supersedes it.
Options :



1. # Hardly do you buy a phone
2. % that they bring out a new
3. # one which supersedes it.

4. % No Error

Question Number : 62 Question Id : 9277598368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Academic ability is/ not the sole criteria for/ admission to the college.
Options :

1. # Academic ability is

2. % not the sole criteria for

3. % admission to the college.

4. ¥ No Error

Question Number : 62 Question Id : 9277598368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Academic ability is/ not the sole criteria for/ admission to the college.
Options :

1. # Academic ability is

2. ¥ not the sole criteria for

3. # admission to the college.

4. % No Error

Question Number : 63 Question Id : 9277598369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

There (must be a clean and efficient way of disposing) the ash.
Options :

1. ¥ must be a clean and efficient way of disposing of

2. % is supposed to be a clean and efficient way of disposing off
3. % should be a clean and efficient way of disposing

4. ® No correction required

Question Number : 63 Question Id : 9277598369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

There (must be a clean and efficient way of disposing) the ash.
Options :

1. ¥ must be a clean and efficient way of disposing of

2. % is supposed to be a clean and efficient way of disposing off
3. % should be a clean and efficient way of disposing

4. ® No correction required

Question Number : 64 Question Id : 9277598370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Our overseas (branch is based in Bahamas).
Options :

1. ® branch is based out of Bahamas

2. % branch is based in the Bahamas



3. #* branch is based out in Bahamas

4. # No correction required

Question Number : 64 Question Id : 9277598370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Our overseas (branch is based in Bahamas).
Options :

1. #* branch is based out of Bahamas

2. % branch is based in the Bahamas

3. % branch is based out in Bahamas

4. # No correction required

Question Number : 65 Question Id : 9277598371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The family were all in mood when Peter won the world championship.

Options :

1. # eclectic
2. ¥ ebullient
3. % eloquence

4. % eminent

Question Number : 65 Question Id : 9277598371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice



The family were all in mood when Peter won the world championship.

Options :

1. # eclectic
2. ¥ ebullient
3. # cloquence

4. % eminent

Question Number : 66 Question Id : 9277598372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

It can be and it can be body language, but it must be clear and unambiguous.

Options :

1. # implacable

2. # imperturbable
3. ¥ implicit

4. % inconclusive

Question Number : 66 Question Id : 9277598372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

It can be and it can be body language, but it must be clear and unambiguous.

Options :

1. # implacable

2. # imperturbable
3. % implicit

4. * inconclusive

Question Number : 67 Question Id : 9277598373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Hawking’s contributions to physics earned him many exceptional honours.
P. In 1974 the Royal Society elected him one of its youngest fellows.
Q. He also received the Copley Medal from the Royal Society in 2006 and the U.S.

R. He became professor of gravitational physics at Cambridge in 1977, and in 1979 he was appointed to Cambridge’s Lucasian professorship of
mathematics, a post once held by Isaac Newton.

S. Hawking was made a Commander of the Order of the British Empire (CBE) in 1982 and a Companion of Honour in 1989.

In 2008 he accepted a visiting research chair at the Perimeter Institute for Theoretical Physics in Waterloo, Ontario, Canada.
Options :

1. ¥ PRSQ

2. % QPRS

3. ¥ PSRQ

4. % RPQS

Question Number : 67 Question Id : 9277598373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Hawking’s contributions to physics earned him many exceptional honours.
P. In 1974 the Royal Society elected him one of its youngest fellows.
Q. He also received the Copley Medal from the Royal Society in 2006 and the U.S.

R. He became professor of gravitational physics at Cambridge in 1977, and in 1979 he was appointed to Cambridge’s Lucasian professorship of
mathematics, a post once held by Isaac Newton.

S. Hawking was made a Commander of the Order of the British Empire (CBE) in 1982 and a Companion of Honour in 1989.



In 2008 he accepted a visiting research chair at the Perimeter Institute for Theoretical Physics in Waterloo, Ontario, Canada.
Options :

1. ¥ PRSQ

2. % QPRS

3. ¥ PSRQ

4. % RPQS

Question Number : 68 Question Id : 9277598374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

gusto
Options :

1. # zest

2. # fervour
3. % apathy
4. ® appetite

Question Number : 68 Question Id : 9277598374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

gusto
Options :

1. # zest

2. % fervour
3. ¥ apathy
4. % appetite

Question Number : 69 Question Id : 9277598375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

congruent
Options :

1. #® asinine

2. # relevant

3. # inharmonious

4. ¥ coinciding

Question Number : 69 Question Id : 9277598375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

congruent
Options :

1. # asinine

2. # relevant

3. # inharmonious

4. ¥ coinciding

Question Number : 70 Question Id : 9277598376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ ostentatious

2. # ostentasious

3. % ostantatious

4. % ostantesious



Question Number : 70 Question Id : 9277598376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ ostentatious

2. # ostentasious

3. % ostantatious

4. % ostantesious

Question Number : 71 Question Id : 9277598377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.
Options :

1. % aberrant

2. ® appease

3. ¥ contantious

4. % inadvertent

Question Number : 71 Question Id : 9277598377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.
Options :

1. # aberrant

2. # appease

3. % contantious

4. % inadvertent

Question Number : 72 Question Id : 9277598378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

A taste of your own medicine

Options :

1. ¥ When you are mistreated the same way you mistreat others

2. % Put yourself in a tough position in order to support someone/ something
3. # A mistake made in something you are trying to achieve

4. ® Do something exactly right or say something exactly right

Question Number : 72 Question Id : 9277598378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

A taste of your own medicine

Options :

1. ¥ When you are mistreated the same way you mistreat others

2. # Put yourself in a tough position in order to support someone/ something
3. # A mistake made in something you are trying to achieve

4. % Do something exactly right or say something exactly right

Question Number : 73 Question Id : 9277598379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom for the given meaning.

Avoiding the main topic, not speaking directly about the issue
Options :

1. ¥ Beating around the bash

2. # Leave no stone unturned

3. # A house divided against itself cannot stand

4. % Back and forth



Question Number : 73 Question Id : 9277598379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom for the given meaning

Avoiding the main topic, not speaking directly about the issue
Options :

1. ¥ Beating around the bash

2. % Leave no stone unturned

3. % A house divided against itself cannot stand

4. % Back and forth

Question Number : 74 Question Id : 9277598380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Fleet of warships
Options :

1. % Compere
2. ¥ Armada

3. % Caravan

4. # Chicanery

Question Number : 74 Question Id : 9277598380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Fleet of warships
Options :

1. # Compere



2. % Armada
3. # Caravan
4. * Chicanery

Question Number : 75 Question Id : 9277598381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

The sound of deer
Options :

1. # Click

2. % Caw

3. ¥ Bellow

4. % Howl

Question Number : 75 Question Id : 9277598381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

The sound of deer

Options :

1. % Click

2. % Caw

3. ¥ Bellow

4. % Howl

Sub-Section Number : 2
Sub-Section Id : 927759404
Question Shuffling Allowed : Yes

Question Id : 9277598382 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (76 to 80)
Read the passage carefully and choose the best answer to each question out of the four alternatives.

He was that rare figure: a natural-born leader, tailored for greatness. When he was but a child his mother had whispered to him, "My son, you are
a child of the dawn. You will be a man of glory, a great leader of your people." Sukarno never forgot those words. Liberating his land from 350
years of colonial rule, he moulded many disparate peoples into a nation that became the fifth most populous in the world, one of the richest of all
in natural resources. He gave his people a language of their own, raised their literacy rate from six to 55 percent, gave them an intense form of
pride in being Indonesians. He had monumental talents: an oratorical gift that could sway and charm, an abundance of that indefinable mystique
called "charisma." Responding, his people gave him loyalty beyond love, reverence approaching god-worship.

Sub questions

Question Number : 76 Question Id : 9277598383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is stated in the passage that Indonesia

Options :

1. # became the richest country in the world after being liberated from colonialism.
2. ¥ was the 5th most populated country in the world after the end of colonial rule.
3. % was liberated from the colonial rule by Suharto.

4. # grew in literacy rate by 55 percent after the end of colonialism it was under.

Question Number : 77 Question Id : 9277598384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the increase in the percentage of literacy rate among the Indonesians after being liberated from the colonial rule?
Options :

1. # 50 percent

2. % 52 percent

3. % 55 percent

4. ¥ 49 percent

Question Number : 78 Question Id : 9277598385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who does the person refer to, "a natural-born leader, tailored for greatness"?
Options :

1. % Sareket

2. # Soekemi

3. % Sukarno

4. % Suharto

Question Number : 79 Question Id : 9277598386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. # Sukarno was a natural-born leader.

2. ¥ The literacy rate under the leadership of Sukarano rose up by 55 percent.

3. % Sukarano's mother called him the child of dawn.

4. % Sukarano was revered like a god by the Indonesians.

Question Number : 80 Question Id : 9277598387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How long was Indonesia a colony?
Options :

1. % 400 years

2. ® 250 years

3. % 300 years

4. ¥ 350 years

Question Id : 9277598382 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the passage carefully and choose the best answer to each question out of the four alternatives.

He was that rare figure: a natural-born leader, tailored for greatness. When he was but a child his mother had whispered to him, "My son, you are



a child of the dawn. You will be a man of glory, a great leader of your people." Sukarno never forgot those words. Liberating his land from 350
years of colonial rule, he moulded many disparate peoples into a nation that became the fifth most populous in the world, one of the richest of all
in natural resources. He gave his people a language of their own, raised their literacy rate from six to 55 percent, gave them an intense form of
pride in being Indonesians. He had monumental talents: an oratorical gift that could sway and charm, an abundance of that indefinable mystique
called "charisma." Responding, his people gave him loyalty beyond love, reverence approaching god-worship.

Sub questions

Question Number : 76 Question Id : 9277598383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is stated in the passage that Indonesia

Options :

1. ¥ became the richest country in the world after being liberated from colonialism.
2. ¥ was the 5th most populated country in the world after the end of colonial rule.
3. # was liberated from the colonial rule by Suharto.

4. # grew in literacy rate by 55 percent after the end of colonialism it was under.

Question Number : 77 Question Id : 9277598384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the increase in the percentage of literacy rate among the Indonesians after being liberated from the colonial rule?
Options :

1. % 50 percent

2. % 52 percent

3. % 55 percent

4. ¥ 49 percent

Question Number : 78 Question Id : 9277598385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who does the person refer to, "a natural-born leader, tailored for greatness"?
Options :

1. % Sareket

2. % Soeckemi



3. % Sukarno
4. % Suharto

Question Number : 79 Question Id : 9277598386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. % Sukarno was a natural-born leader.

2. % The literacy rate under the leadership of Sukarano rose up by 55 percent.

3. # Sukarano's mother called him the child of dawn.

4. # Sukarano was revered like a god by the Indonesians.

Question Number : 80 Question Id : 9277598387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How long was Indonesia a colony?
Options :

1. # 400 years

2. # 250 years

3. % 300 years

4. ¥ 350 years
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Question Number : 81 Question Id : 9277598388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed uy A, IR el 7 9, 39 fahcu &1 9g7 &% o feT U Yo & et I fawde &1 faweu 81
farieR

Options :

1. % f&i+ R

2. % 3T+ 3R

3. % fd+ 7R

4. ¢ & + 3R

Question Number : 81 Question Id : 9277598388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



%ﬁaﬁ@au&rﬁ,wﬁmﬁﬁﬁ,wﬁmwmqwaﬁ@ﬁnww%aﬁﬁfﬁi&@qwfaqwa‘n
Options :

1. % 3+

2. % &7 + 3[R

3. % fg + TR

4. ¢ faP + 3R

Question Number : 82 Question Id : 9277598389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRaa Uy &, IR fawedl § 9, 39 fadhed &1 I8 &< off [T U RMeg & 7T 5! HHYRY IHN & faug &1 [ddbed gl
BINERE]

Options :

1. ® e = ut HHd
2.« il g Sl HHA
3. % HUA DI Al
4. % HUA I Ara

Question Number : 82 Question Id : 9277598389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefed uy d, IR fowmedl § 9, 39 fdwed &1 997 &3 ol AU TN Yeg & folT Y8t HHUYRY 99N o 998 &1 f[dwea gl

Options :

1. % Jiar =4t HHA
2. ¢ a1 g S HHd
3. % DA BT il
4. % HUA I Ara




Question Number : 83 Question Id : 9277598390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we o, TR fawedl & 9, 39 fadhed &1 997 B S ST ¥ § e &1 Uo! fAdbed T8l 8l
Options :

1. ¢ A5

2. % H{qlqH

3. # dqq

4. % JHY

Question Number : 83 Question Id : 9277598390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy A, IR el § T, 39 fahed &1 799 B ol ST I 4 e BT ol [Adbed gl 8l
Options :

1. ¥ e

2. ® HAlaH

3. % dqq

4, % JHY

Question Number : 84 Question Id : 9277598391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy & IR fowddl 7 9, 39 fawey &1 9g 3 o) AT 17U ee & vafgareh Wee &1 Ug! faswe 78t 3|
a3

Options :
1. % 1l
2. % d
3. ¢ fagu
4. % dY




Question Number : 84 Question Id : 9277598391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
aﬁ;ﬁfr@?rmrﬁ,awﬁwq‘fﬁ@r,wiaqwmqw B SNt faT 71T ea o yafaaTd Weg &1 gl fddhed 781 © |

Options :
1. % pl
2. % dd
3.+ fagy
4. % dY

Question Number : 85 Question Id : 9277598392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy d, IR ieeal 7 9, 39 fahca &1 987 &3 ot fAdiA Weg &1 a9 331 faheu g |

Hid
Options :
1. = 9l
2. % R0
3. % qlH
4, ¢ 3{HId

Question Number : 85 Question Id : 9277598392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafafad uy A, IR e & 3, 39 9wy 1 T B oY {3 e T a9 33T fAbed g
Hiq

Options :
1. % 3l
2. % IR



3. % alH
4. % 3{YHId

Question Number : 86 Question Id : 9277598393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofafad vy §, IR fawedl § T, 39 I8! faded o1 I99 &3 Sl il & ol U e &1 fadhed g
3 9o R AR T8 aren

Options :

1. % 3Tary
2. ¢ Waddt
3. % 3R
4. % WRIIAd!

Question Number : 86 Question Id : 9277598393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad Uy |, IR [Adeul 7 9, 39 I8! f[dwed &1 99 B3 Sl I1aiR & ol U Weg, &l [ddhed |
3 §d R AR 38 aran

Options :

1. % 3fTdr=

2. ¢ Wrdadl

3. % 3R

4. ® RIS

Question Number : 87 Question Id : 9277598394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawenl § 9, 39 Ug! fadwed &1 999 o3 o Rad RIM & oIt Iugead Weg &1 Wa! fadwed 71
garan, FART=I 3R 3wherdr S Xeg gHR Sitdd & H 781 g =g




Options :

1. ¥ eIy
2. % W
3. % Tiftg
4. % DI

Question Number : 87 Question Id : 9277598394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed oy &, o fawedl § 9, 39 el fawed &1 997 & S Rad RIF & o Iuged Weg &1 Ja! fdbed g |
g, FART=I 3R 3wherdr S Xeg gHR Sitdd & H 781 g =g

Options :

1. ¥ Yqd Y
2. % R
3. % Tiftg
4. ® DI

Question Number : 88 Question Id : 9277598395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fawedl & 9, 39 fawed &1 999 &3 ol ¥ed gl = aral fadwed g
Options :

1. &g

2. % Tl

3. % WISt

4. % HAR

Question Number : 88 Question Id : 9277598395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa uy & IR fawe # 9, 39 fawey &1 T &% ot 9ed gl &4 arel [dbed 3|




Options :
1. v &g
2. % Tl
3. % WISt
4. % HAR

Question Number : 89 Question Id : 9277598396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad ue o, TR fawet § 9, 39 fawey &1 7o &3 S foU T8 Wesg & dgaeH U &1 Jad 331 fadhed ]

STUD

Options :

1. % 3fHTIHTY
2. % AR

3. ¥ HAUDHIG
4. % JAYDH

Question Number : 89 Question Id : 9277598396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawed! & 9, 39 [9aed &1 997 &< off faU 7Y XMeg & Igaa U & Jad 3731 [ddhed |
IS

Options :
1. ® 3AYHIT
2. ® JAgH|

3. ¢ HAUHIG
4. % 3D

Question Number : 90 Question Id : 9277598397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawet § 9, 39 fawey &1 T &3 S 7y I3y arad Ta-TH Wed &1 Jad 331 fadhed 7
Options :

Question Number : 90 Question Id : 9277598397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed Uy & aR fawedl § 9, 39 fadmed &1 98 & off Tl T3y ardd Ja-T4 Xeq &I Ty 351 fadhed 5|

Options :

Question Number : 91 Question Id : 9277598398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy ¥, aR fowedl & T, 39 faswey &1 999 &3 Sl foU T8 Weq-g & 312 &1 Tad 3131 faded g |

RPR-FPR
Options :

1. % YTS-T5S
2. ® Y3R-YUdlq
3. % g g
4. ¢ Y3R-Hgol




Question Number : 91 Question Id : 9277598398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, OR fowedl & T, I faswey &1 999 &3 Sl foU 7T Weq-g & 312 &1 Tad 3131 faded g |
RISEENEA

Options :

1. % AYE-TE

2. % Y3R-Ygdiq

3. % QT

4. ¢ YIR-Ig

Question Number : 92 Question Id : 9277598399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy o, IR fadbedl # 4, 39 fadbed &1 98 D ol favH g ot a1’y &7 Hal [dehed Bl
Options :

1. % TIg A IS B! dRI% HRd gU Bl fob a1g! JH fdbanT 31 d g

2. % HIgd A IS b1 IR HRd §U BT b, "a1g! TH fob=T 3T 7TTd gho”

3. ¢ g A IS B dRIB Hd gU el b, "arg! g foa1 31 T1d 3l)”

4. % Hig = 9 D1 dRI% DHRd gU gl foh, "a1g! TH fhT 3{<aT Md 81"

Question Number : 92 Question Id : 9277598399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfeRad us H, IR fadbedl | 9, 39 fdhed &1 90 o Sl faR1H g ot aTer 1 Tt fasbed 311
Options :

1. % Hig = ol &1 dRI% HRd gU gl foh 18! qH favd=1 381 7Td 3|

2. % IgA A S B dRIB DHRd §U el fob, "arg! gy faa1 =1 71rd glo”

3. ¢ g A IS B dRI% DHRd §U Dal fob, "a1g! qH fdba1 31 71rd 81"

4. % TIg A IS B IR HRd gU Bl fob, "aTg! gH fobd=T 33T 111 Bl




Question Number : 93 Question Id : 9277598400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed uy A, IR el 7 9, 39 faweu &1 9g7 &% &t feu U deifad o1 gt 31 arerr fapea g |
I o7 =t 3eTs B -

Options :

1. ¢ §gd i 7 9§ Bl e
2. % UTY Hh GYTATY BT G
3. % YA

4. % YATE HR Yo ST

Question Number : 93 Question Id : 9277598400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 8, IR fowddl 7 9, 39 fdhe &1 907 3 oY T 71U Aeifaa &1 98t 31 arern fasweu g |
N fa 9t 3feTs B -

Options :

1. ¢ Sgd ¢ 1 ¥ & e

2. % U9 Hdb GYTATY P G

3. % YA

4. % YA HR Y ST

Question Number : 94 Question Id : 9277598401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed oy & aR fawed § 9, 39 fadmed &1 Tg9 & ot &t 718 GeTa &1 Ja! 3 arar fadwed ]
- TS U IS -

Options :
1. % 9gd U I aW gl
2. ¢ AT AfSId AT




3. % YRT ST
4. % Yrft HouAr

Question Number : 94 Question Id : 9277598401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofRed vy H, 9R fawed! § 9, 39 fadhed &1 98- $ Sl 41 715 Tk &1 e 34 arer fdsed 3|
Options :

1. % §gd Y= $I auf I

2. ¢ 3d aferd g

3. % UYRT ST

4. % Yrft dHegAr

Question Number : 95 Question Id : 9277598402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied we o, TR fowenl & 9, 39 fadhed &1 07 B S < 718 GgTdR &1 et 3 g fdsed g |

BTY TP BT -
Options :

1. % Hp-TWTs I X1
2. % SegdlSi HRAl

3. ¢ Ol

4. % TGAd HIAT

Question Number : 95 Question Id : 9277598402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frufefad vy B, IR fawedl B Q, 39 fadwen &1 w9 & S <1 112 gaTa &1 9gt o arett fadweu 7
BT I BT -
Options :



1. % gh-gHTs I &1
2. % Secdoll Bl

3. ¢ Sl

4. % HgId BT

Sub-Section Number : 2
Sub-Section Id : 927759406
Question Shuffling Allowed : Yes

Question Id : 9277598403 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

T TR &1 YD U 3R IR fadhed § I UdH U &1 garad SR g |

3T HTAIYT TG BT A1ed &) WA gig 91 &I ga § fovg S @t 3nam ¥ 3o+ §fS 961 &d € IfgHM deard o i I
T B 8! dd d G- I8 O §| TP A GRI Sl TS o] Bl TgTanT d-1 o1 S | 399 Wfaad! & [dbr gidl g fomr spag b I ot
g o gYcft § 7 v R FRR Yedht g faendf & e & forw suresvor &1 Sl 31s € < ugl gan ure +f ya Sran 8| ad fRam o €
e, Stta & fopalt off &1 T TohardT UTed S o ToTE 31Ty R Siid HTaRI® g 31T & F1YH o 3HT | 9ia BIdll &, BT R &
ST € 3R a8 ¢fR-¢fR guiar & SR SRR 811 oIl |

Sub questions

Question Number : 96 Question Id : 9277598404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG & IR AIYTH TG BT TaIad 1= HT 52
Options :

1.« WY

2. % gfg

3. % Tfed

4. % fifg

Question Number : 97 Question Id : 9277598405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



S @R 3T § 310 §fS 98T A § d T HEad /2
Options :

1. % gaaq

2. ¢ gfaHH

3. % QoYIIH

4. % HATPR

Question Number : 98 Question Id : 9277598406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TE & AR 31 H1 1 SaAD 62
Options :

1. % ol ol Yo o & oy

2. % GIgRH & ey

3. % 3quidr & forg

4.« Fhddl UH & ferg

Question Number : 99 Question Id : 9277598407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TH Y PH-I1 3T BT FAMAN W1 51 82
Options :

1. % 9§y

2. % gHfd

3. ¢ YT

4, % Tgd™

Question Number : 100 Question Id : 9277598408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3fJw9C B Hls Jugad ie:
Options :




1. % HIAI g HRAT

2. ¢ g H 3R &1 Jgd
3. % fufg ot

4. % gfgHM i

Question Id : 9277598403 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

TRIIRT & SHYE® U 3R IR fadbed § ¥ Udd Uy &1 qarayq SR g |

3T STATIYTT T BT JaTad red & HiTaH gfg T & 2dr & fbg st o enamg @ 3ol §fg 9e1 Sd € Sfer e s gfe @
HTH 8! dd 9 T 8 S1d € Uhid gR1 &l T3 Afdadl BT GUanT BT 81 310 & 399 fadd! &1 faw giar & famT snamg & 9 af Rifg
T Bl & 7 U Rifs RR I ¢ faemdff oo A1 & e sorevur &1 SR 818 € < el g1 Ure Hf 4d ST § had e J g1 -1,
Siia & ot off &5 & Toharar U & & foTE Sam H=1 S1d SHTIRAD ¢ S WU &b SIHd T gl It &, HIod g 8l Sl g
3R T8 TR-R quiar &} 3R SERR T oar g

Sub questions

Question Number : 96 Question Id : 9277598404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG B TR SMHAAYN T BT FaraH JTeH 7 82
Options :

1.« Y

2. % gfg

3. % gfad

4. % f¥fg

Question Number : 97 Question Id : 9277598405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S AR 3T § 370 §fS 98T A § d T e /2

Options :

1. % gg|



2. ¢ gfgHH
3. % QoYIH

4. % DPR

Question Number : 98 Question Id : 9277598406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG & AR 3NN H1 I AP 62
Options :

| % <ol ) oy o & R

2. % QIERH & forg

3. % fuidT o forg

4. ¥ oA U & fog

Question Number : 99 Question Id : 9277598407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T ¥ HH-T1 YT BT THAT Tt T8l 77
Options :

1. % QY

2. % 3fYfd
3. v YT
4. % TEON

Question Number : 100 Question Id : 9277598408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 3¢ B g JUYad Y-
Options :

1. % S gR HRAT

2. ¥ St § 31T BT HEd

3. % fife onfe




4. % gfguH fe

Disciplinel
Group Number : 6
Group Id : 927759316
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 927759342
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759407
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9277598409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oA A AR AT G 9  So0d 9gFeAE 99 @ JE e



Options :

| v TEIE:

). % DHHURY:
3. % OO

s % BT

Question Number : 101 Question Id : 9277598409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oA AN A AEHeEEr e Ao 50 99HEEN U & HEY
Options :

v eI

). % DHURY:

3. % SEIPH:

4% =T

Question Number : 102 Question Id : 9277598410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR FAfAABNRG: AR DEAGH I Haeag@dy: So09 TR SAT U8 @ AHE?



Options :

| % DHURY:
), v TEHIE:
3. % TEIRE

4% BT

Question Number : 102 Question Id : 9277598410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s : i 5 N . * : b e Y . L ) : i s Ny B
SRR DA BN HRI OHTgHIIHATRHIEANY: A YHITAOX gdIHT Ua D THIH::

Options :

| % DHURY:

2, v TBAIE:

'

3, % IR

4% BT

Question Number : 103 Question Id : 9277598411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FATATRNG. AR 9 & [9Us: agf:?



Options :

| % DA R
5 @ PHECEIN: BT

oS Y : =

3 % DA BN

4 % DA BT

Question Number : 103 Question Id : 9277598411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FHAAARRG: IR 9 & [9Us: 9’
Options :

o

| % HECET SR

) v FEfERT TR

3 ® fﬁ’:ﬁ%ﬂﬁmﬁ

4 % DT BT

Question Number : 104 Question Id : 9277598412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

49 ST AL G . Axaaes: ygedd?



Options :

| o TSI

2. % NEPERI

3w USPITEIRATREI

4, % TP

Question Number : 104 Question Id : 9277598412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
49 ST FYEME 9 & Ahages: g’
Options :

| ST

2. w WRLHEIS

3 % UPTTACIINRE

4, % TPTIRIT

Question Number : 105 Question Id : 9277598413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HAHTH SARAT & FHE:?
Options :
, TIRIABS IO IRIAR

1.

5 % TMCOCOSRH:

3 F2AUTLVHHHIRA

IS I3 [SE RO R LA R

4, 3

Question Number : 105 Question Id : 9277598413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRH SENET DGR

Options :

| % HYxeddDplladcd o1+

5 % INCOCOSHAT:

3 A0V HIRA

4w OO SR,

Question Number : 106 Question Id : 9277598414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SR SURE UT & STHNY
Options :
| % TPOCTOURAT.

5 % ST

3 IqD, TIOTTART

x TOCTOIRTAT:

4, 3

Question Number : 106 Question Id : 9277598414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FTARIT SURET UT & qE?
Options :

| % FAAHOHHHIRA:

5 % INCOCOSHAT:

3 v IIH, TIOTHAR:

4w OO SR,

Question Number : 107 Question Id : 9277598415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TERMEHIHET §die U S FJATIE ISexvHERad’
Options :

| % JFAHEE

5 % SONCORAN EE

3 % AT

4 v TAERERX

Question Number : 107 Question Id : 9277598415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TERMEHIHET §die U S FJATIE ISexvHERad’
Options :
| % JFAHEE

5 % SONCORAN EE

3% AT

4 v TAERERX

Question Number : 108 Question Id : 9277598416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



299 Y T SR
Options :

| G2 ETTeT: As AN I[E*-IHL_EI)'{‘JQC%‘:C{EH*H{

, % U ML ASADRE FAALOIH T

s w 91 T AR THAIoahaoTe

4 » T UL JSADRE AAATOIGTAT

Question Number : 108 Question Id : 9277598416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

299 Y T SR
Options :

| G2 ETTeT: As AN I[E*-IHL_EI)'{‘JQC%‘:C{EH*H{

, % U ML ASADRE FAALOIH T

s w 91 T AR THAIoahaoTe

4 » T UL JSADRE AAATOIGTAT

Question Number : 109 Question Id : 9277598417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
2T eTreg éﬁ & IJHITUT: e AT

Options :
1. HIHT:

0. % W
3 % gl

Lx

Question Number : 109 Question Id : 9277598417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ZTTITeTreg %lﬁ - IJHITUT: e AT

Options :
1.« 9IHTT

0. % W
3 % 9=l

4 % S

Question Number : 110 Question Id : 9277598418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AAARITY P Y I ¥Tea: AR ?
Options :

1. % % :
). % STEN

3.

4. < 1

)

Question Number : 110 Question Id : 9277598418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ZTTITeTreg %lﬁ 4 Y Y. M= AT ?
Options :

1. # O

). % TEIE

3.

4. 1

)

Question Number : 111 Question Id : 9277598419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SIOE 5703 & Uad:?
Options :
1. 94

2. TG

PR

ox T

Question Number : 111 Question Id : 9277598419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
11 T2 b i e [

Options :

1.« 99

2. x 9

3% 09

Question Number : 112 Question Id : 9277598420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AIGH 53 Dl G HYd Yohg:?



Options :

| x NI
, % WTdIl
3 o de+da-

4 % TEHTET

Question Number : 112 Question Id : 9277598420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AIGH 53 Dl G HYd Yohg:?
Options :

| x AT
) % Wrddt
3. o g+

4 % IEHTET

Question Number : 113 Question Id : 9277598421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o arar = o wgafa?



Options :

L% g dl, AT

5 % CITdcT, Jered

3 o IERIREEIR

4 % TSEAATEET

Question Number : 113 Question Id : 9277598421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o7 g = &5 wuata?
Options :

| % Ecdl, AT

5 % G, JETe

3 o fecar, faumg

, % SCELATIE

Question Number : 114 Question Id : 9277598422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e I wEIayTddl Uahday w9 Hafa’

Options :




). % T
3. I

4x W

Question Number : 114 Question Id : 9277598422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e veeYd WeEaYdtl Udhday w9 Hafo e

Options :
1. ® UL

). % I

3. T

4% B

Question Number : 115 Question Id : 9277598423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T ToHaHal fBaeq wd Jafi?

Options :

| v T




2. % SO

x TN

4% I¥

Question Number : 115 Question Id : 9277598423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o Tolfaqaal feaas wd Jafa?

Options :

1.¢11?ﬁ:
)« T
3. % I

4% I¥

Question Number : 116 Question Id : 9277598424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iRl gifY vreevg oT [avedr wuaRka’

Options :

| x TETEAIEE ERIRGCEERES)




)  TEdEaEEdr Baemw

s x EAREEEET vhaew

4 % ACHITEEIT UhaaRy

Question Number : 116 Question Id : 9277598424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

il gifY veey T favesr wugaiRar

Options :

| % GO ERIRCEERES

5 v EdEfaEEr Eaemw

y x [EdEIEHEET Thaeas

4 % ACHITEHEI e

Question Number : 117 Question Id : 9277598425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I Iea YT aHedl Uhaas & w9 Hafa?

Options :
1. ® dT=:




2. % TEH

3.0 VR

4 % T

Question Number : 117 Question Id : 9277598425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I I WerHTfaTEdl Uhaay f w9 Hafa?

Options :
1. % dl=:

2. % TEH

3.0 VR

4 % T

Question Number : 118 Question Id : 9277598426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRYE=T A A BHIgY HUAERG?
Options :

AG DN EHURHYDYd g o1

1. ¢

, x OSADNT FUAIEIIEIAT



; % FOADRE RHIGTIGIAT

4 & BSADRT STALTIIGIATH

Question Number : 118 Question Id : 9277598426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRYE=T A A BHIgY HUARG?
Options :

AG D INEHURHYDHd g I

1. ¢

, % OSADNT TUAIEIIEIATH

3 % FEADRT FHIOTIGIATY

4 % FSADRE STAIEYEEIATH

Question Number : 119 Question Id : 9277598427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e ¥ fRdianiead! 9ggo+ ©Y wafi?

Options :




3 % BT
4, %G9

Question Number : 119 Question Id : 9277598427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
O Teew fEdanaa] 9gaae w9 9ari?
Options :

L% O
2.v T

3 % ©FET

4, % ©O4

Question Number : 120 Question Id : 9277598428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
F UK H TR A’
Options :




2 % SE ISR

4, v TANSITORA

Question Number : 120 Question Id : 9277598428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
F UK H TR A’
Options :

3w BTN

4. ¢ TETCIORY

Discipline2
Group Number : 7
Group Id : 927759317
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 927759343

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759408

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9277598429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QIUTETAT g URu-exYl Ha9: Foaarad

Pl IGedT e A= Sh™Tg: I3 |

.E.;EZ[H"H;._ U.E.IIEI ﬁ‘ﬁ 5-&7
Options :
1. = S TehTl

> % HiGA

3« N



4, % RER

Question Number : 121 Question Id : 9277598429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QIOMENAI-=giel. TRu=e<] Gg8: Agdrad
Chic:i 9Tl UaTd gqri:lvl"lfhﬁ-ll‘idn":rlﬁi ﬂﬁ'ﬂlﬂl
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Options :
1. # HG [shT=]

2. % fe

Question Number : 122 Question Id : 9277598430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 122 Question Id : 9277598430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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gt Afs 7o Siear i afe: |

= 9gia godd JIud Heet = | |

A w@® SgHgaEd &2
Options :
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Question Number : 123 Question Id : 9277598431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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faemarRia™ 3 Ae=R U9 9 | |

T TEN 5O IS Disef?
Options :

v T
R S
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Question Number : 123 Question Id : 9277598431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. gfll\
2_2311_}‘1:5

3. % 39

4. % S

Question Number : 124 Question Id : 9277598432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 124 Question Id : 9277598432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 125 Question Id : 9277598433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



Question Number : 125 Question Id : 9277598433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 126 Question Id : 9277598434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ® Gy

2. x Y7
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Question Number : 126 Question Id : 9277598434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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i
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ST ST FUISEaReTH
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1. #® QIR
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Question Number : 127 Question Id : 9277598435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR § AR 9EeaT 99 Ea HRaHa?
Options :
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!

2. % 3
3 % SRR

4 @ RO

Question Number : 127 Question Id : 9277598435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4 @ RO

Question Number : 128 Question Id : 9277598436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR 2 AT, AR AdAR[eld. Hde SHeaH .
Options :
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2.8 §!
3. % TROH

4 % AR

Question Number : 128 Question Id : 9277598436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BRI 2 A, A JARTA A HYIE HRHY
Options :
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Question Number : 129 Question Id : 9277598437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 129 Question Id : 9277598437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 130 Question Id : 9277598438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4 % TIIUTET HHIOT

Question Number : 130 Question Id : 9277598438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1 % gST AFEY

r e \. ﬁ.
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Question Number : 131 Question Id : 9277598439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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g X SIS ANy A0 ST | |
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Options :
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Question Number : 131 Question Id : 9277598439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT 9I0T: SIST. WO gigeiiia: |
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Options :
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Question Number : 132 Question Id : 9277598440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 132 Question Id : 9277598440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S5 Ogar 7 &I Gadl 9 A= |
Hed 7 990 aHEHeadaH | |
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Options :
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Question Number : 133 Question Id : 9277598441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 133 Question Id : 9277598441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARY: TR Ol DG wIAN?
Options :
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Question Number : 134 Question Id : 9277598442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 134 Question Id : 9277598442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 135 Question Id : 9277598443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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s w Y U ASADRE THALOh I
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Question Number : 135 Question Id : 9277598443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 136 Question Id : 9277598444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 136 Question Id : 9277598444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 137 Question Id : 9277598445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A AR AT T $ad
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Question Number : 137 Question Id : 9277598445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 138 Question Id : 9277598446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 138 Question Id : 9277598446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Te B3 &1 FRa=ie
Options :

1 % fa=m
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Question Number : 139 Question Id : 9277598447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 139 Question Id : 9277598447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :
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Question Number : 140 Question Id : 9277598448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U o & gir?
Options :
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Question Number : 140 Question Id : 9277598448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Discipline3
Group Number : 8
Group Id : 927759318
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Discipline3

Section Id : 927759344
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759409
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9277598449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

r

L HJg+T4g:
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Question Number : 141 Question Id : 9277598449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YUUNT: Sy faus: &0
Options :
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-
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Question Number : 142 Question Id : 9277598450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U7 e gl el fea=m & o9 wafa?

Options :
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Question Number : 142 Question Id : 9277598450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U7 e gl el fea=m & o9 wafa?

Options :
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Question Number : 143 Question Id : 9277598451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 143 Question Id : 9277598451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 144 Question Id : 9277598452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qHE v~ Tl favadl gwq sfa w9 Hafd?
Options :
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3. % ST agae
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Question Number : 144 Question Id : 9277598452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 145 Question Id : 9277598453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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, o EdEEgEivy faufeay fRaamy

s Y

3 % Fqear: Baem

4 % TOAC TR



Question Number : 145 Question Id : 9277598453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Al ST wUH NS IR $Ige BUARG’
Options :
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Question Number : 146 Question Id : 9277598454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 146 Question Id : 9277598454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ATA: S a P fef?

Options :
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Question Number : 147 Question Id : 9277598455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 147 Question Id : 9277598455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 148 Question Id : 9277598456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 148 Question Id : 9277598456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 149 Question Id : 9277598457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 149 Question Id : 9277598457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 150 Question Id : 9277598458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARRIR=ETSY &1 @ Feaf?
Options :
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Question Number : 150 Question Id : 9277598458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AERIET=arsy &1 o e’
Options :
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Question Number : 151 Question Id : 9277598459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 151 Question Id : 9277598459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 152 Question Id : 9277598460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 152 Question Id : 9277598460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 153 Question Id : 9277598461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 153 Question Id : 9277598461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 154 Question Id : 9277598462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 154 Question Id : 9277598462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 155 Question Id : 9277598463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 155 Question Id : 9277598463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| w 1TSS

2.¥ 7 34

3. % FOUA

4, % THTUH

Question Number : 156 Question Id : 9277598464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

v e
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4.&;3347%3@

Question Number : 156 Question Id : 9277598464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SNeaeeadaR @1fa HHI0T Afader=?
Options :
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Question Number : 157 Question Id : 9277598465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 157 Question Id : 9277598465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 158 Question Id : 9277598466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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. RIERIE

» % AR FrETem
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Question Number : 158 Question Id : 9277598466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 159 Question Id : 9277598467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 159 Question Id : 9277598467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 160 Question Id : 9277598468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 160 Question Id : 9277598468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Discipline4

Group Number : 9

Group Id : 927759319

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 927759345

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759410

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9277598469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR IO AT Ha et Ty =AM aal | ARTeId | Asd B TRRY g e
Options :
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3 % RS

4 v SRTEARATENTE:

Question Number : 161 Question Id : 9277598469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR AT AT Ay =M adl 9 RIS | A5 B T=RY g0’
Options :

4 v SEERAYEYE:

Question Number : 162 Question Id : 9277598470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| % DrFErIEEYe

5 SETERAHEYE:

Question Number : 162 Question Id : 9277598470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 163 Question Id : 9277598471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 163 Question Id : 9277598471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 164 Question Id : 9277598472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 164 Question Id : 9277598472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 165 Question Id : 9277598473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 165 Question Id : 9277598473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 166 Question Id : 9277598474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fereReifey, TETTReR BREe TR ada?
Options :
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Question Number : 166 Question Id : 9277598474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g ASMRO HNA- 9407 9o’

Options :

Question Number : 167 Question Id : 9277598475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TA—RIfGY TeARRYAS T FEMRa S gaior f&erm?

Options :




Question Number : 167 Question Id : 9277598475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FA—GRIMGY TARRIAS T AEMRO S gaior fger?

Options :
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Question Number : 168 Question Id : 9277598476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mEMRags gifowd vew & M amia?

Options :




Question Number : 168 Question Id : 9277598476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 169 Question Id : 9277598477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 169 Question Id : 9277598477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 170 Question Id : 9277598478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.

SEEC LR
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Question Number : 170 Question Id : 9277598478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 171 Question Id : 9277598479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 171 Question Id : 9277598479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 172 Question Id : 9277598480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

2. & Ihﬂ:f?ﬁ
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Question Number : 172 Question Id : 9277598480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 173 Question Id : 9277598481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

21T fMemRifrar = fOar = 9t fgarfe= =
TeIYE TASIHN AGel U8 Siadiey gar 9 | |

A A Tgaaead: 9 fH7
Options :
1 & RTRIV




5 % SUSaAT
3« SUdlfd

4 % I

Question Number : 173 Question Id : 9277598481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 174 Question Id : 9277598482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 174 Question Id : 9277598482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 175 Question Id : 9277598483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 175 Question Id : 9277598483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 176 Question Id : 9277598484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 176 Question Id : 9277598484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




Question Number : 177 Question Id : 9277598485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 177 Question Id : 9277598485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 178 Question Id : 9277598486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 178 Question Id : 9277598486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 179 Question Id : 9277598487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 179 Question Id : 9277598487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 180 Question Id : 9277598488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 180 Question Id : 9277598488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¢ DHAT:
2. % ST
3. % EHAC
4, % TSI
Discipline5
Group Number : 10
Group Id : 927759320
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 10

Is this Group for Examiner? : No
Discipline5

Section Id : 927759346

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 10

Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759411

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9277598489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 181 Question Id : 9277598489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 182 Question Id : 9277598490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 182 Question Id : 9277598490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 183 Question Id : 9277598491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 183 Question Id : 9277598491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4 x TSR

Question Number : 184 Question Id : 9277598492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 184 Question Id : 9277598492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 185 Question Id : 9277598493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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T 1 waRMAmsa Tve gfiffa R |
TADSRAT 9vg gag disef?

Options :
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Question Number : 185 Question Id : 9277598493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 186 Question Id : 9277598494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 186 Question Id : 9277598494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 187 Question Id : 9277598495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. w CRTHISH

3. % SR

Question Number : 187 Question Id : 9277598495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 188 Question Id : 9277598496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4.

Question Number : 188 Question Id : 9277598496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4.

Question Number : 189 Question Id : 9277598497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 189 Question Id : 9277598497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 190 Question Id : 9277598498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 190 Question Id : 9277598498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4 % Taufte:
Teaching Methodology
Group Number : 11
Group Id : 927759321
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 10
Is this Group for Examiner? : No
Teaching Methodology
Section Id : 927759347

Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759412
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 9277598499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which memory helps an individual to recall something immediately after it is perceived?
Options :

1. % mid-term memory

2. % short-term memory

3. # long-term memory

4. ¥ sensory memory

Question Number : 191 Question Id : 9277598499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % BT Wil

2. % Y 3afy Hfd

3. % drdeprieres Wil

4. Fadt Hfd

Question Number : 192 Question Id : 9277598500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of these gives a certain set of broad principles, derived in turn from a spectrum of value?
Options :

1. # Professional norms

2. ¥ Professional ethics

3. # Professional commitment

4. % Professional rules

Question Number : 192 Question Id : 9277598500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % O AHGS

2. « GRS A

3. % IS Ufddgd]

4. % e Faq

Question Number : 193 Question Id : 9277598501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Decoding is a skill that initially requires expertise in-
Options :

1. ¥ Phonetics

2. % Writing

3. # Reading

4. % Memorising

Question Number : 193 Question Id : 9277598501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ WRIAFH
2. % "

3. % A

4, ® FRUIRGAT

Question Number : 194 Question Id : 9277598502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which question allows for opinion as it has more than one correct answer?
Options :

1. # Closed question

2. ® Factual questions

3. % Referential questions

4. ¥ Open-ended question

Question Number : 194 Question Id : 9277598502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % §q Uy (ddiss Hy)

2. % dHTHD UH

3. % Yo Uy

4. ¢ fa%qd SIaTd 910 Y (3NUA-USS )

Question Number : 195 Question Id : 9277598503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is a typical gender role?
Options :



1. ¥ Reproductive role
2. # Teaching role
3. # Kitchen role

4. # leadership role

Question Number : 195 Question Id : 9277598503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TSI YHen

2. % fR1&qor YTt

3. % 3418 YAt

4. % I YHPBT

Question Number : 196 Question Id : 9277598504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given grades, which one indicates minimal passing performance in a school?
Options :

1. % C

2.¥D

3.%F

4. % B

Question Number : 196 Question Id : 9277598504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U s § Q, B 1 faureg § gran Sl vexi= & g=ifdr g2
Options :

1. % C



2.¢D
3.®¥F
4. % B

Question Number : 197 Question Id : 9277598505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anxiety disorders are those that are characterized by
Options :

1. #® excessive shouting and fear

2. # excessive crying and worrying

3. # excessive pressure and tension

4. ¥ excessive and persistent fear, worry

Question Number : 197 Question Id : 9277598505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % D e ok va

2. % YD I SR feler BT

3. % AP &Id 3R 19

4. AAMRD R AMAR 1, =i

Question Number : 198 Question Id : 9277598506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A specific learning disability that affects a person’s ability to understand numbers and learn math facts is called
Options :

1. # Dyspraxia

2. % Dyscalculia



3. % Dysgraphia
4. # Dyslexia

Question Number : 198 Question Id : 9277598506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fEefaga

2. ¢ feadagpiaan

3. ® feguitean

4. * ReafRa

Question Number : 199 Question Id : 9277598507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Intrinsic Motivation is the act of doing an activity for
Options :

1. # Completion of work

2. % Rewards

3. # Punishment

4. ¥ Joy of doing

Question Number : 199 Question Id : 9277598507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % BB G

2. % QUHR



3. % ell
4. ¥ B DI gl

Question Number : 200 Question Id : 9277598508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which technique is an imitation of the real world experience?
Options :

1. ¥ simulation

2. # role play

3. # facilitation

4. # mantle of the expert

Question Number : 200 Question Id : 9277598508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TRgeiH

2. % A

3. % QT (BRITCH)

4. % Hed 3t § TR



